
Specifications:
Packed weight: 5.7kg Packed Size: 155 x 260 x 435mm Volume: 0.0175m3

Paint: Epoxy powder coat (oven cured) Colour (table) : Telecom Gold

Planer Attachment Kit - EPA001
Suits Series 2000 & MK3 Workcentres. Requires adaptor kit for MK3’s.

2

1

3

4

5

6
7

9

10

6

7

9

11

12

13

13

12

14

14 15

12
7

8

14

16

17

18

19

20

12

7

21

22
23

25

27

26

7

7

1818

6

28

29

30

17

7
26

32

33

34

35

Front Brace Strut incor-
porates holes for

switchbox

37

38 39

36

Assembled
view of rear
mounting

components

8

5

88

6

7

9

24

Toggle

31
7

34b
34a



PUA436  Carton 1
PUA438  Instructiions 1

1 EPA021 Alignment Plate 1
2 EPA006 Planer chassis 1
5 EPA074 Front planer clamp assembly 1
10 EPA075 Rear planer clamp assembly 1
9 EPA027 Wing knob 1
11 EPA042 Handle bracket 1
15 EPA043 Handle clamp 1
16 EPA028 Nut carrier 1
18 CMA040 Round Knob 1
19 EPA071 Front table bracket 1
20 EPA072 Rear tablebracket 1
21 EPA069 Front pivot bracket assembly 1
22 EPA070 Rear pivot bracket assembly 1
23 EPA067 Front height bracket assembly 1
24 EPA068 Rear height bracket assembly 1
25 EPA065 Brace strut front assembly 1
- EPA066 Brace strut rear assembly 1
28 EPA026 Height indicator (each) 1
29 PUA439 Scale labels (pair) 1
30 EPA055 Pressure finger 1
31 EPA057 Pressure finger sprong 1
32 EPA014 Planer guard assembly 1
33 CPA013 Tube closure 1
34 CMA065 Switch box complete 1
34a CMA048 Stop plate 1
34b CMA062 Stop plate pin 1
36 AGA001 Trigger strap 1
37 EPA044 Dust hose (3” diam.) 1
38 EPA046 Dust hose chain 1
39 EPA060 Dust bag 1

EPA061 MK3 Adaptor Kit 1
EPA056 Fastener bag 1

FASTENERS NOT SUPPLIED SEPARATELY
3 M4 Screw 2
4 M4 Flange nut 2
6 M6 x 20mm Screw 3
7 1/4” x 5/8” Washer 15
8 M6 Hex nut 5
12 M6 x 16mm Screw 8
13 Large washer 2
14 M6 Flange nut 4
17 M6 x 30mm Coach bolt 4
26 M6 Nyloc nut 4
27 M6 x 45mm Coach bolt 2
28 Height indicator 2 Available separately
29 Scale labels 1 Pair Available separately
30 Pressure finger 2 Available separately
31 Pressure finger spring 2 Available separately
33 Tube closure 1 Available separately
35 Self tapping screw 2 Available separately
36 Trigger strap 1 Available separately

Planer Attachment Kit - EPA001
Suits Series 2000 & MK3 Workcentres. Requires adaptor kit for MK3’s.

Diag. Part No. Description Qty Supplied Comments
Ref. as Spare Part


